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In which two States of India, was Panchayat
Raj system first introduced ?

Bihar and Madhya Pradesh
Andhra Pradesh and Kerala

{1)
dar

(3) Karnataka and Tamil Nadu

(4)  Andhra Pradesh and Rajasthan

The present Secretary General of the UN.O.
is

(® 93
(2)  Guy Rvder

Ban Ki-Moon

(3] Jim Yong Kim
(4)  Yukiya Amano

Angela Merkel is the Chancellor of

{1} France

A2y Germany

{3} Greece

{4} Japan

The Planning Commission was set up in the
year

i1y 1950

(2r 1951

(3) 1952

4) 1953

The Dutch East India Company set up their
first factory at

(13 Cochin
{2) Surat
,{-JT Nagapatnam

{4)  Masulipatnam
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C B

7.

8.

10.

{51

The first Chief Election Commissioner of India | 8

Was

(1) KV.K. Sundaram
427 T. Swaminathan

(3) Sukumar Sen

i4) REK. Trivedi

The plants that grow on the rocks are called

{1) Lithophytes
42} Eremophytes

(3)  Sclerophytes

{4) Halophytes

The scientific study of insects is called

A1 Ethology
{2) Morphology
(3) Hydropathy
{4) Entomology

The biggest planet in the Solar System is

7 Jupiter

(2) Venus

{3) Mercury

(4) Neptune

Earth is called as the
(1) Red planet

(2)  Blue planet

(3) Yellow planet
L4y Green planet

10.
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11.

12.

1.

14.

15.

Who was the first Indian to get the Nobel
Prize ?

(1} C.V.Raman

(2}  Amartya Sen

(3) Hargobind Kherana

{4} Rabindranath Tagore

The astronaut who first landed on the Moon
WAS

{1)  Yuri Gagarin
(2)  Daniel Pearl
{3)  Peter Scot

41 Neil Armstrong

Who was the Prime Minister of India just
before P.V. Narasimha Rao?

(1) Indira Gandhi

t2)  Charan Singh

{3) V.P.Singh

(4) Chandra Shekhar

In India, the longest day occurs on

(1} April - 13
(2} Oectober - 31
(3) June-21

W@ March - 21

MNelson Mandela who was South Afriea’s first
Black President died on

1)  6-9-2013

(2) 6-10-2013
(3) 6-11-2013
(4) 6-12-2013

(6]

11.

12,

13.

14'

16.
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16. In the Delhi Assembly Elections held in 2013,
how many seats did Aam Aadmi Party win ?
i) 28
(2) 32
3) 8
4) 16
17. Sriram Sagar Project is in the district of
(1) Nizamabad
{2y Adilabad
(3}  HKurnool
(4) Warangal
18. Manjira is a tributary of
(1) Tungabhadra river
(2) Penna river
{3) Krishna river
1 Godavari river
19. By which Amendment to the Indian
Constitution, was the Eleventh Schedule
added ?
& 71" Amendment
(2) 72" Amendment
(3 73" Amendment
(4 74" Amendment
20. The First Five Year Plan accorded the highest

priority to

1y Agriculture

(2) Electricity

(3) Rural roads

(4) Heavy industries

{7)

16.

17.

18.

19,

(1 28
(2) 32
(3 8

(4) 16

(1 Jesrord
(2) eboeab

(3) 555:3_15
(4 Stcnd
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21.

22.

Which Article of the Indian Constitution layvs

down the Fundamental Duties of citizens ?

1 51-A
{2) 52
i3y b4
(4) 5h

Who is the first woman chairperson of the
State Bank of India ?

(34 Poonam Ahuja

(2)  Priyvanka Das

(3) Nisha Desai

A1) Arundhati Bhattacharya

Who are referred to as Homo sapiens ?
(1}  Monkeys

(2) Tigers

(3)  Peacocks

(4)  Human beings

Deficiency of which vitamin causes Beri Beri ?

(1 A

2) B
3 C
4 D

How many bones does an adult human body

contain ?
(B 206
(2) 106
(3) 153
(4) 215

(8)

21.

22.

23.

25.
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(1)  51-A
{2) 52
(3 64
(4) 55
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{1} 206
(2) 106
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26, Which of the following countries is in South |26. 300 T0& D S¥o &im o’ &obd ?

America 7 (1) Soerd;

{1} Zimbabwe 20 gzpob

(2) Qatar (3)  e3ITd
A3y Afghanistan (4) t—.}:_,; oédar

(4)  Argentina

27. 2350 aH5 oo &8 ?
27. Srisailam is on the banks of river - -

(1) Aosd
1y Godavar

(2} 'bﬁJ
{2}  Penna

(3) ool
(3) b
} Tungabhadra @ B
(4} Krishna

28, THAD SHEHTIE Tad  EdoeR

28. International Conference on Science
COSTAOL B0y 2012 D6 10-12 &

Communication for Scientific Temper was

held during 10 — 12 February 2012 at 25,6 26hol 7
(1 Mumbai (1) Heod

(2)  New Delhi (@ S ¢l
(3) Jaipur @ Byrb

(4)  Udaipur @ acakiyyl

£
%
E
£er
o
-3

29. Which journal is published by National|[29. =8c =Y BJFrore Sof P

Institute of Science Communication ? (1) a“':"‘i‘ 5_5*:?5
(1+  Science Reporter (2) by Srdes
(2} Science Monitor (3 d’?“i" :mﬁ&{
(3)  Science Herald (4) ;';‘1_15-: &3ras

(4)  Science Promater

30. 2011 mvgr Bgo Pso wo OEFER D
30. w-h].(.'h dlstnﬂ. mn Anlih.ra P['ﬂdEﬂ-h has thE ﬁ‘ﬂ;‘ﬁﬁ Eﬂﬁé&ﬂl ﬁﬂgﬂ‘ﬁ&& aan ?

highest literacy rate as per 2011 Census ?
€ g e g (1) =Bosns

(2) B8 Fosd
(3)  Sodrendond
4) Foocard

(1) Karimnagar

(2) West Godavari
{3) Mahaboobnagar
{(4) Hyderabad
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31,

32,

35,

Which Article of the Indian Constitution says
that the State shall take steps to organise
Village Panchayats to function as units of self-

governance 7

(1) 40
2k 41
{3} 42
4y 43

The Constitution of India was adopted by the
Constituent Assembly on

(1} 26-11-1949
2y 26-1-1950
{3y 15-B-1947
(4]  26-11-1948
Sisir Kumar Ghosh and Motilal Ghosh

published the newspaper by the name of

by Hindustan

(2  Hindw Patriot

(3)  Vandemataram

(4)  Amrit Bazar Patrika

In which year did the Lahore session of the
Indian National Congress pass the resolution

of Poorna Swaraj ?

{1y 1928
(2) 1929
& 1930
(4) 1831

Chairman of the 14&' Finance Commission of

India is

e Y.V, Reddy
(2) D, Subbarao
% C. Rangarajan
(4)  D.P. Agarwal

[ 1)

3l

32'

33.

]
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2) 41
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(4) 43
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(1) 26-11-1949
{2}  26-1-1950
{3)  15-8-1947
(4) 26-11-1948
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36. Mamta Sharma is the chairperson of !35«
(1} Investment Commission
(2)  National Knowledge Commission
(3!  Planning Commission
(4  National Commission for Women
37. Which State in India produces the maximum 37.
cotton ?
(1) West Bengal
(2}  Kerala
{3) Bihar
(4} Gujarat
38. Which State in India hsfs the largest forest -
cover, according to ‘India Forest Report —
2011° ?
(B Kerala
(2)  Karnataka
(3) Uttar Pradesh
(4) Madhya Pradesh
39. How many tyvpes of ‘Gauges’ does the Indian 39.
Railways-track have 7
1y 1
2 2
@ 3
4y 4
40. How many members are nominaled to the o
Rajya Sabha by the President ?
10
2y 11
@ 12
4) 13

oot 3% Aul wde
(1) 2ép0c Rovo

(2)  erdan 2 Bowo
()
)

roSidos” D G‘vg.s} wd:Rsom B3I
OGO

(1) 5@y Sor

(2) Eo¢

(3 &

(4) Hoz=od

‘060 —“35: %
PUsd¥od D oo sie ohtio JEns ?
(1)

(4) 0@y BoE

o8 353 I Use f avon ?
m 1

2 2

@ 3

4r 4

(1) 10
2y 11
3 12
i4) 13
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41.

42,

44.

i1

The first Mughal emperor who issued a
farman to the English to open a [actory at

Surat was

i1y Akbar

7 Jahangir

(3] Shahjahan

(4) Aurangzeb

The founder of Bhakti Movement in India was
(1) Shankaracharya

(2) Nimbarkacharya

{(3) Madhvacharya

#4) Ramunajacharya

An earthquake under the sea is called a
(1)  Cyclone

{2) Lightning

{3) Thunder

‘4}  Tsunami

Who from the following was not a member of
the Cabinet Mission ?

{1y  Pethick Lawrence

(2)  Stafford Cripps

£ AY. Alexander

4y Atlee

Public Aceounts Commitlee consists of

members from Lok Sabha as well as Rajya
Sabha. The Chairman of the Commitiee is
always

(1} A member of Opposition party
(2 A member of Cabinet
{37 A nominated member
{4y  Deputy Speaker of Lok Sabha

2

41.

42.

43.

44,
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46. How many types of Emergency are envisaged | 46.
by the Constitution of India 7
1y 2
2 4
43 4
i4) b
47. Nelson Mandela, who died recently, received |47.
the Bharat Ratna Award from the Indian
Government in the vear
(1) 1988
(2) 1989
(3) 1990
(4) 1991
48, In which script was the Buddhist literature
recorded ? 48,
(1)  Pah
i2) Sanskrit
(3) Prakrit
(4) Hindi
49. Which city is also known as the ‘Big Apple’ ? 5
{1} New York (USA)
(2) Canberra (Australia)
(3) Madrid (Spain)
M7 Lausanne (Switzerland})
50.
50. Indian Institute of Space Research and

Technology is located in the State of

1)  Andhra Pradesh
(2) Tamil Nadu

(3) Kerala

(4) Karnataka

B R . = g G P o W Py
58 Cummolio @O0l edEE S0Rtes
3

)

oS5y 7
(=}

2y 3
3) 4
4y 5

gtiSo Dtdodin doyd Wwolowm U
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(1) 1988
(2) 1989
(31 1980
4y 199
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(1) 28
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& SHoh ‘OR ebd od wotrth 7
(1) &ry el (odods)
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51.

52.

54,

55.

Which of the following decades was declared

as the International Decade for Natural

Diisaster Reduction ?

(1) 1990 - 2000
2 1880 - 1990
{3) 1870 - 1980
{4) 2000 - 2010

The green colour of leaves is due to the

presence of

(1)  Proteins

(2)  Lipids

{3 Carbohydrates
(4}  Chlorophyll

“Tsunami’ 15 a

iy Japanese word

{2)  French word

(3}  Greek word

(4}  Russian word

Which of the following is a natural disaster ?
4 Drought

(2)  War

{3y Civil War

(4)  Terrorism

Who iz called the Father of Computers ?

i1)  Herman Hollerith

{2} Yon Neumann
i3y Blaise Pascal
4} Charles Babbage

{14

5l

B2,

55.

(1)
(2
(3
)

gaky

(1
(2}
(3
(4)

(2
(3
(4)

1990 — 2000
1980 — 1990
1970 - 1980
2000 - 2010
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%I‘

57.

59,

The Disaster Management Act of India was

enacted in the year

(1) 2003
2y 2004
(3 2005
W 2006

Whao is called the Father of E-Mail ?

{1y Ray Tomlinson

(2) Timothy Bill

(3) Linkan Golitsberg

4y Bill Gates

The full form of WWW is

M1 World Wide Web

(2)  Window World Wide

(3)  World Working Web

(4)  World Working Window

Discovery of Radioactivity was made by
(1} Rutherford

42} J.J. Thompson

(3)  John Dalton

(4) Henri Becquerel

Mahatma Gandhi Institute of Education for
Peace and Sustainable Development is at
(1}  Delhi

2y Dehradun

(3) Hyderabad

(4) Agra

[15)

56.

67.

58.
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61.

Which Indian State is the topmost State in
terms of prosperity, according to the report

released by CRISIL research firm in
November 2013 ?

(1) Punjab

{2 Kerala

{3) Nagaland

{4) Bihar .

Shanti Swarocop Bhatnagar Awards are given
for excellence in the field of

(1)  Literature

(2)  Music

{3) Sports

(4) Science and Technology

Capital of Mizoram State is

¥ Dehradun
(2)  Imphal
(3) Kohima
(4)  Aizawl

At what place did the All India Congress
Committee meet on 1%* April 1921 ?

(1)  Chittoor

(2)  Visakhapatnam
(%  Nellore

(4) Vijayawada

The first session of Rayalaseema Mahasabha
was held in 1934 at

(¥ Madras
(2) Gudivada
(3) Bapatla

(4)  Srikakulam

{16 )

61.

62,

2013 “dowbs @hd &3 NOFOT ROy
DBe DD JDHE Soodo, D ersd o0
griied” piood ?
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() S6¢

(3) ool
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66. Who is the Chairman of the National Disaster | 66.
Management Authority under the Disaster
Management Act, 2005 ?
(1) Prime Minister
(2} President
(3) Vice-President
{4} Finance Minister
67.
67. The boundary line between France and
Germany is known as
(1)  Durand Line
27  McMahon Line
(3)  Radeliffe Line
(4) Maginot Line
68.
68. Who was selected for the Jnanpith Award for
the year 2012 ?
(1) Dasarathi Rangacharya
{2)  N. Gopi
(3) Katyayani Vidmahe
)  Ravuri Bharadwaja 69.
69. The English and Foreign Languages
University is located at
t+)  Guwahati
(2) Gorakhpur
(3) Hyderabad
(4) Madurai
70.
70. 'The Nobel Prize winners in Physics for 2013

are
(1)
{2)
3}

Peter Higgs and Francois Englert
Alice Munro

Arich Warshel, Martin Karplus and
Michael Levitt

Randy Schekman,
James Rothman

i4) Thomas Sudhof,

2005 806 DEAD erdah

Jady Do B0
D58y DG HoR Bl J50 7

5y - a0 davo Mg B0 Sy D
(1) &roeel O

(@) b5ty
(3) odésh iy
4) SraSes 3

2012 2 e:;;%a T A5t STt ?

(1) el ﬁenﬂﬁ'ﬁﬁ
(2 5. 8

(3 Somuhd A
4) oIrl gtore

8 goflin, @of 735 gron@h 03:;*355;&3 Gy
SdEo

(1 Ara

(20 Rodars
(3 Toceb
(4) S

FTEE oo 2018 & Tad alrirdo SodD
TQ%H&U

(1) 585 iy 8 i2of 20)8

(2)
(3)

sdn g

et 73S, 205 5530 ok IS
S

cod mows, onb 2§, 25,
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Tll

72,

73.

T4 L

75,

SAARC Disaster Management Centre is

located at
Cuttack
New Delhi

(1}
(2}
13y
(4)

Visakhapatnam

Madurai

The oldest university in the Telangana region
of Andhra Pradesh is

(3 Osmania University
(2} Batavahana University
{3)  Kakatiya University

{4)  Mahatma Gandhi University

“Typhoon Haiyan’ killed more than 10,000
people in 2013 in the country of

(1) Indonesia
(2) India

(& . Japan

{4} Philippines

The oldest university in the Andhra region of
Andhra Pradesh is

t1)  Andhra University

{2)  Sri Venkateswara University
@  Sri Krishna Devraya University
(4)  Vikrama Simhapuri University

India’s first military satellite GSAT.7 was
successfully launched into orbit in the vear

W 2013
£2) 2012
(3 2014
4) 2011

(181}

71.

72,

73.

74.

5.

[A]

by, D8 Ve Bolo JHd <ol ?

(D 58

(2) a5 a8
(3)  Jwgnine
(4) 206l

o B3FTY Bworre  Frosed o
SIS JFDoreabo

(1)  &andalr Mo edbe

(2) TOTTH IO ddo

(3)  ssdah JEIoebo

(4) DSt rrod JdDovodo

2013 § 3830 oD wT) SodI BIrS
Tahd' D S¥0d’ Hogdodod ?

(1) mo&ihoir
(2) modalr
(3)  aZxd

@ S&HcuH

o B3 so Proved &b ed
@“&l}b :}fﬁﬁﬁnﬁ“ﬂv@tﬁiﬁ

(1) o Mo oabo

@ & o880 Do oaho
@) & 5 dsoan Ddoano
(4)  ED 20TH0 HoTeabo

D DoSEyGod ros ¥ o) PIE SSIETC
GSAT-7 2 8% ('3 Dectbbosore Soboort

(1 2013
2) 2012
3y 2014
4y 2011
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76.

7.

TB L]

The new book ‘My Journey : Transforming
Dreams Into Actions’ is authored by

(1)  A.P.J. Abdul Kalam
(2)
(3
(4}  Pranab Mukherjee

M.S. Swaminathan

Ramachandra Guha

The present Chief Information Commissioner
of India 13

(1) Sushma Singh
(2} Nishi Vasudeva
(3) Sowmya Gupta
(4} Neeru Gupla

Which countrv’s scientists built the world's
smallest FM Radio Transmitter ?

(1) USA

(2) Germany
(3) Canada
#) Japan

When was colour TV transmission introduced
in India ?

(1) 1980
2y 1981
13) 1982
(4} 1984
Who was the founder Director of Tata

Institute of Fundamental Research ?

¢#) S.5. Bhatnagar
(2) H.J. Bhabha
{3y M.N. Saha

{4}  Vikram Sarabhai

{ 18

T6.

77.

8.

79.

-
58 8 Gdcnd

(1} 228 ewd Soo
(2) Jo.db. FTES
(3) oCrEodos Mo

(1) Eod 502

S PBS BE Siiroed ¥upb

(1) 2oty woh
2 2howds
(3) Aoy Mo
4)  d® o

$ & TRgw Esolod ©d
BGEr L?J‘cSJ.ﬁJEJE o Tt ?

(1) eIdobse

0%y I5.05.

2 b
3 3SHe
(4) o8
Jipth  riss towe 8. Eow
(1} 1980
(2) 1981
(3) 1982
(4) 149584

e ainigel 8% Sotdowd bk FRw
(1) 0.0 genrl

(2)
(3)

5
(4) o Forgrod
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81.

B2,

83,

B4.

B5.

Who is recognised as the Father of Geometry 7

i1y Pyihagoras
i2)  Eueclid

i3 HKepler

W Descartes

Which of the

classical one ?

following Indian dances 13 a

110 Odissi

{2)  Garba

i3) BRasa Leela
i41  Bhangra

NABAED was set up on the recommendation
of

i1y Public Accounts Committee
(2} Shivaraman Committee

{3)  Narasimham Committee
t4)  Rangarajan Committee

After the merger of Air India and Indian

Airlines, the new entity is called

{1y  Indian Airlines
2y Air India

i3 Indian Airways
t4)  Indian Air

In 1916, Mahatma Gandhi founded Sabarmati

Ashram at

(1) Ahmedabad
(27 Aurangabad
) Bombay

i4)  Baroda

(.20}

H1.

B2.

Bi3.

Sgrnedd Dormiroiomr J000 fodomto ?
(1} 2Fnde

(2 o3

3 328

(4) &= T
[ %]
208 738 grEdab THoh Sy 06 ?
(1) £A3
(2) no

3 onds

4) roiT
N sl SESEe egrtior  T@f

aroodniod 7

(1) 585 eT oSy 5el
(2)  E5omeS ¥2oed

(3)
(4) Sorores Eel

StmosSo :.JJ‘E‘E

goddlr Dodkn godddhs Jondbgoym
5825 B8 Hog W

(1) zoddld Jowdda

(2) 2o modoir

(3) aFobobe Jonban

(4) Fodahs Jond

1916 & 2o
%boa’-m.?

oy ol Dald e@srdy I8

(1) n::m:u-m‘-'amﬁ

(2) Toomeed
(3) FTocrowm
4) oS
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86.

B7.

Who was popularly called the ‘Grand Old Man | 86.

book “The Discovery Of India” was|gm

of India’ ?

i1y  G.K Gokhale

(2)  B.G Tilak

4  Dadabhai Naoroji

(4)  Abul Kalam Azad
The

written by

(1) Gopal Krishna Gokhale
(2y  B.RE. Ambedkar

{3y Bal Gangadhar Tilak
(4} Jawaharlal Nehru

In which year did the Jallianwala Bagh

tragedy take place ?

11}
(24
(3)
(43

Quit India Movement began in the vear

1)
(2]
(3
4}

Mahatma Gandhi was assassinated in the

vear
(1
(2)
(3
4)

1918
1919
18920
1921

1941
1942
1943
1944

1948
19459
1946
1847

{21}

8O,

a0,

(3) ooerds TEE

(4) send Soro esrd

“5 din 58 el godal’ PHNE GiScnds IS ?
(1) Fre 5 f'ed

2 D.e8 wodob

(3) ero homsh Sk

4) eshod I

D Podésod” wBabdmor @R Eoges
2:0Acl ?

(1) 1918
(2 1919
(3) 1920
(4 1921

£185 RodAlr &Do FPUoTES HoSEdo

i1 1841
(2) 1942
(3) 1943
4y 1944

< Bo3& ol wer; od FEDAbeGD

(1p 1948
(2) 1949
(4} 1946
(4 1947
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91. Father of Modern Western Education in India | 91.
13
(1)  Lord Auckland
2y Lord Dalhousie
(3) Lord Hardinge
(4) Lord William Bentinck
92,
92. Indian National Congress was founded in the
year
i1y 1883
(2 1884
(3) 1885
(4) 1886
] = ; 93.
93. According to Ambedkar, which Article of the
Indian Constitution is the verv heart and soul
of the Constitution ?
(1)  Article-1
)  Article - 19
(3) Article -32
4 Article - 14
(4) cle o4,
94. The Congress Socialist Party was founded in
the year
(1) 1932
(2) 1933
(3) 1934
1935
5.
95. The second most populous State in India as

per 2011 Census is

@) Uttar Pradesh
¢2) Maharashtra

(3)  Madhya Pradesh
(4) Bihar

(4]

PUSE" eCudE B & DT ISt 7
(1) b szl

(20 eof &

@ ef >poh

4) of 2dand: Boelok

D Po3ged gos =dad  wo@d
Fdotadod ?

(1) 1883
(2) 1884
(3) 1885
(4) 1886

woiit)f oo s cerploda O
B E"‘E‘Eﬂﬁﬂ eE;, oo

(1) efsSin-1

(2) d55m ~19

(3) o5 -32

(4) oLhste -14

D  Nosswos wo@h PR P
Fhosedod ?

(1 1932

(2> 1933

(3 1934

(4) 1935

2011 wargr Sgo STUo S 25 edhy
2 He cl“ap
(1) &35 304

(2)  SoToy
(3 DG BT
(4) DL
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96. The Sarpanch of a Gram Panchayat is elected | 96.
for a period of
{} 5 wvears
(2] 4 years
{31 3 vears
{4)  Notime limit
97. Which is the longest river in the world ? 97,
(1) Congo
(21 Nile
(3)  Missouri
4> Brahmaputra
98. Who was the first Speaker of India’s first Lok o8,
Sabha ?
(1} Hukam Singh
(2}  M.A. Ayyvangar
(3)  G.8. Dhillon
(4 G.V. Mavlankar
99. The Second Five Year Plan accorded priority | 29
to
(1) Agriculture
(2 Cottage Industries
{3}  Educational Development
(49 Basic and Heavy Industries
100. International Literacy Day is 100,
i1y October 8
(2)  September 8
(3)  November 8
4y  December 8

[A]

B R0 G:.C’(:l}

2y 4 :—".}DD{%C“‘E_E
(3) 3 RodHdyTrew
4) ToNOS S

ool edos FEIH 56 DO 7

(1) = of

(2) P

@ 20346
4) i

erod Bdod® Smogd Snesed nEE IS5t ?

(1) oo hoh

(2)  Jo.d. E‘.‘.iU:S.'};L;DT‘["‘S
(3) 235 erd

4) &2 Feosh

Dot Hod 5§ Berds 2 Sommdd Prerids
Fuhyohd
{U éb.;“}%c.ﬁm

(2) edy seEmes
(3} 35‘;@5}&@

K

(4) SFBE ba grb SO

woe‘.ﬁ:i;fm.ﬁz :JD“E Pt e]

(1) =Sos8
5]

(2) wnowb s

(3) Sdonks

(4) &howbs
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101.

102,

103.

104.

105.

Sujatha Singh is Indian Government’s present
(1}  Foreign Sccretary

(2) Eduecation Secretary

(3) Home Secretary

(4) Defence Secretary

The headquarters of United Nations
Organisation (UNO) are located at

(1) Washington D.C.
(2) Texas
B New York

{4) San Francisco

Who first propagated the idea of ‘Gram

Swaraj’ in India ?

(1) Gandhiji
(23 Tilak
i3) Naorgji

(4) Lajpat Rai

In which district of Andhra Pradesh is the
Basar Saraswati Temple located ?

(13 Nizamabad
(2) Medak
(3)  Adilabad

(4) Srikakulam

In which district of Andhra Pradesh does the
river Vamsadhara' flow 7

(1) Nellore

(2) Kurnool

(3) Visakhapatnam
(4%  Srikakulam

(24) [a]

101, :ueree Hofl godalr (BEhers ardd
(1) Ddzon T80
(2) :JCF;} Tﬁ;ﬁﬂ;
3) 5 o
(4) S50 500,

102, 2% Coe 208 Soi ST &y Bd¥o
(1}  Taehts &0,

@ Osy0
(3) g arh,

(4) 5 PrnRE

108. 888" i BT RSB Indkare BErbo

STt ?
(1) m™odd
(20 &8
(3) JTES

(4) omSd Tadd

104. w0 E3EED O 28 ol SN
Secho 408 ?
(1) d=drarb
(2) Toas
(3) wooowb
@ Fswvo

105. oy (B3EED D Bgd Sodgy 58
B300 ?
(1} Jardé
2 st
(3)  Jwphino

(4) @EF-E;}%"C:
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106. What is the name of the pohitical party

107.

108.

109.

110,

recently launched by Manda Krishna, founder
of Madiga Rezervation Porata Samithi ?

A1y Mahajana Socialist Party
(2)  Bahujuna Socialist Party
(3) Mahajana Welfare Party
(4) Bahujana Welfare Party

The present Chairman of University Grants

Commission is

(1) Prof. 8.5. Mantha

(2}  Prof 5K Panda

(3}  Prof. Yash Pal

{4}  Prof. Ved Prakash

Harare is the capital of which country 7

(1) Caracas

(2)  Hanoi

(3) Zambia

(4) Zimbabwe

Present Governor of Rajasthan State is
Yy Margaret Alva

(2) Kamla Beniwal

(3)  Urmila Singh

(4) S.C.Jamir

The smallest Union Territory of India (in area)

is

(1) Puducherry
{2}  Chandigarh
A7 Daman & D
47 Lakshadweep

| 25}

107,

108,

109,

110.

(2}
(3)

(4}

OXrDBENed [roedy 52055 B:ys P5S

(1) @2ond 2525, Jooe

(@ o0k 5.3 oo
(@) (Db cbh
(4) ok 38 Pd

Tore D 8% oemod ?

(1) sz
(2 FaD
i3 molar

S Tresd T MacD

(1) S5rg0e oy
(2) Soo odsd
(3) &b Lo
(4) 0.0 e

PEE3¥ SoEF0S FoTrd of I

1) Heodo

(2) Sodnb
(3) ormd Dobain Eathy
4)  o5bie
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111. The duration of the Fourth Five Year Plan|111.

wins

{1} 1969 - 1974

(2) 1974-1979

(31 1961 - 1966

(4) 1980 - 1985

112.

112, So far, how many Finance Commissions have

been appeinted in India ?

(1 12

(2 13

£ 14

(4) 15

113.

113. Article 51-A of the Indian Constitution deals

with

(1) Union - State Relations

(2) Directive Principles

(3) Emergency Provisions

4) Fundamental Duties
114. A student has to secure 456% of maximum |114.

marks to pass a test. If a boy gets 285 marks

and fails by 30 marks, the maximum marks

for the test is

(1) 500

(2) 600

@ 700

(4) 800
115. The average of the numbers 1, 2, 3, 4, ..., 59

is 115.

(1) 28

2y 29

(3) 296

(4) 30

T°QD Do HF PETis oo
(1) 1969 - 1974

(2) 1974 -1979

(3) 1961 - 1966

(4) 1980 - 1985

PSS FhHoos I &PE  Hopre
Al g TRTEV L TRNS

1 12

2) 13

(3) 14

4) 15

S mwﬁoﬁoégb 51-A  edESe
mowodowod 7

(1) 3o - op Sowogrw

(2) 50§ Sroe
(8)  eEERY S0QWe
(4)  ZEE oo

o 368 6fgen dorl Sngo 8 45%
Srdneo oD, el DS 2856 Srin o) By
30 Srtoe StpuEsdmi. & B0¥ Jogo
oy, 00

1) 500
(2) 600
(3) 700
(4) 800

éaaaém 1,2 58,4, ... 590 30000

(1) 28
2) 29
(3) 295
4) 30



GS/600

116. A rectangular land has an area of 120 sq. m.
and perimeter 46 meters. The length (n

meters) of the diagonal is

(1y 20
{21 18
3 17
4y 13

117. A copper sphere of radius 3 em is melted and a
wire of diameter 0-2 ¢m is made of it. The

length (in meters) of the wire is

(36
(2} 24
(3 18
4) 9

118. A rectangle of length 12 em and breadth 5 em
is inscribed in a circle. The radius (in em) of

the circle 13

6
2y 65
3y 7
(4) 85
119. If the ten-digit number 1532147x06 1is

divisible by 9, then x =

3 3
(2) 5
@ 7
(4) 9

120. A train of length 150 meters crosses a bridge
of same length in 20 seconds. The speed (in

kmph) of the train is

{1y 36
¢2) 45
(3 54
(4) 60

{27)

116.

117.

118,

119.

1 2“.

L8 Y SEEDTEY T 120 5.2,
orl enFed 46 Dy & J5QV 2D
(eoge’)
(1 20
2y 18
(3 17
4) 13

3 »o.fu. rkgo So a5 oA Redy 50hoD
T8 02 202, THo So SR JTm. ¢

&R >y (efs’)

(1y 36
(2) 24
(3 18
(4) 9

12 o.5s. 6, 5 0.2, Ison Ho ot &Y
SHEZ 8 Hgo wosfoswiod. &
58 Ergo (Ro.. ef)

(1) 6
(2} 65
@ 7
4y 85

S8 eoBo fop; 1632147x06 % 9 JFore
grAs edpth x =

(1) 3
(2 5
3 7
4 9

150 2otog e Yo el oo oB SEY Mo

el JoBIS 20 WEHE ortodod. & Fw
Sto (fotsd 3.2, oF)

{1} 36
(2) 45
(3 54
(4) 60
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121. In a business, A invested 3 times as much as B | 121
a2
and B invested % of what C has invested. If
the vear-end profit is § 55,000, the share of B
in it is
{1y 2 12,000
2y & 10,000
I < B,000
(4) 7,000
122, If A gets 50% more salary than B, then how 199
much does B get less than A7 ’
(1) 25%
1
(2) 33—-%
3
13)  H0%
’ 2
(4) 6G6—%
3
123. By selling an article for ¥ 990, a trader gets a
profit of 12 % %. The cost price of the articleis |123.
{1y & 920
2 ¥ 880
(3) & B0O
(4) & 780
124. In a vear, the month of June starts on
Monday. Then the Indian Independence Day 124

that vearis on a

(1)  Tuesday
(2) Wednesday
31  Friday

(4) Saturday

[A]

DEneGd A

w8 Trsed B Zo&d 3 Bay

; POPRE A o 2
SN DGO

DD, C 2 griie B Derd.

BoSdTroS ordic ¥ 55,000 wond wolhd” B

TeT
(1) ¥ 12,000
(2) 10,000
(3) ¥ 8,000
(4} T 7,000

B ¥oi3 A 8 50% d8o i 53, A8 B
Jos Tao B0 S5yY Bixod ?

(1) 25%

1
2} 33-%
(2} 3
{30 5H0%

2
4) 6B6="%
i4) 2

el Sipshio T 990 S Eﬂf.l:& 2.5 D‘éﬁﬁﬁ 12%%

orgio Zrobd, el 55 Je

(1) T 920
(2) T 880
3 F 800
(4) ¥ T80

28 BodsWod® evs Jo LT Uod Ineugd
& BoBdhgod’ Ul o SvhoTrl

(1)  Zoohdordo
(2} ndTlo
(3) SHEToo
(4) FIToo
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125. A person I’ can complete a work in 18 davs. If
Q iz 20% more efficient than P, then the
number of davs required for @ to complete
that work is

i 15
(23 12
(3 10
4y 9

Directions : Answer the guestions 126 to 130 after
reading the information given below carefully
In the diagram given below, the triangle

represents doctors, the circle represents players and
the rectangle represents the artists.

H
E‘!

Players (—( D C
4 Doctors

A

!

Artists

126. The space in the diagram that represents
doctors who are also plavers as well as artists

is
(1» B
21 C
@3 D
4 E

127. The space in the diagram representing artists
who are players is
ey F
2y G
(3) H
4y D

{29 )

125, P e 58

L

esdhy Modl 20% I28nid 3 o he 58 Q
Pond & S0 rg Saverdd Q & 54 e
Iy

{1y 15

(2y 12

(3} 10

4y 9

oS ¢ (Sod Fhal SIC egrdonT 126 ol 130

-

S Mo el sver S5y,
[e3

a y o _" . e 2

ol aﬁ’ﬂm Se0d | Sghmo GrElar, o

B shedr, SEEHdo SeTtboir Srddow.

5 ;
126, 5008 SoTihw, SoDiten Hroe

G0 rdiod 3o
L o)

(1 B
2 C
@ D
4) E
127. EorsiEs sernom stod’ srdod B8
() F
2y G
3 H
4 D
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128. The space in the diagram that represents

artists who are neither players nor doctors is

L A
2) B
3y C
4) D
129. The space representing those who are players,
but neither doctors nor artists is
(1) E,G
2y FE
4 GH
4y H,F
130. The space representing doctors who are
players but not artists is
(1} A
(2) B
3 C
41 D
Directions : Reading carefully the information

given below, answer the questions 131 to 135.
Six houses in two rows facing north and south are

allotted to P, @, R, S, T and U in such a way that
(i) @ and S get north facing houses and not next
to each other.

(ii)
{iii)

S and U get diagonally opposite houses.

R is next to U, and gets a south facing house
and T gets a north facing house.

The house between @ and S is that of
wn P

(2)
(3)
(4)

131.

R
T
U

{301

128. dose TR oy T TRor &od
EerTies nrdod ©ido
1) A
{2) B
3 C
4y D
120. N B0, EOTlw 50 Som &S00
dosthod wrdod Bddo
(1) EG
(2 FE
3) G, H
4) H,F
130. SoTtopdr Srstho N G Erdod
eTnl-lo!
(1) A
(20 B
3 C
4y D
MBIE ;o S Jdcrer emhgT SO0 131

oD 135 SE8 Mo @BSHed saver Oy,

ath iy OJoto SCRE &gY, oSfm Sow
orored damon. T80 P, Q R S T, U o
Zergodnd” ol Jgorr STryon.
() Q 8 oo &gb Swgy oo So il SThow
T 250 P5,S L 8.
S, U o gty JEfabor I Jbtor
(diagonally opposite} &0,

(ii)

Gi) U & @55 RE ofeo Sy o agn T 3
a0 Do mﬁé@ 3 ‘.-:3-:1"130.;3,
131. Q, S ©% IO 3&) Do 38 2508 5000
(1 P
2 R
3 T
(4) U
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131

182. Apart from the pair SU, the other pair of

houses that are diagonally opposite are

(1}
€2}
{3}
(4)

PQ
RT

TU
QT

133. The middle house facing south is allotted to

(1)
(2}
3
(4)

P

L=

134. The houses facing north were allotted to

(1)
(2)
(3]
(4)

QRS
QTS
QTU
QUR

135. The house allotted to T is opposite to that of

(1)
(2)
(3)
bk,

U
T

o

R

Directions : Read carefully the data given below
regarding the production and sale of motor bikes and
scooters by a company and answer the questions 136

ta 140,
e, No. of Motor bikes No. of Scooters
produced and sold | produced and sold
| 2005 18500 14600 |
| 2007 | 16900 25400
(2008 | 12600 | 18800 |
[ 2009 | 9600 | 11200
2010 ) 14800 16200
2011 | 17600 24200

132. SU =% 8% Jsfcbore JE3 3 5y
50 208

(1) PQ
(2) RT
(3) TU
4) QT

138, &8es Suw aqnés Ty qoeﬁﬁﬁwmoﬁag é;%

i1y B
(2 Q
(3) R
{4 3

134. &85 Sup giHa Swranod Fobs S

(1) QRS
(2) QTS
(3) QTU
(4) QUR
185. T 3 Strcvnods goddd Jehine &od 3558
(1) U
(2) T
3 8
49 R

MPOE 1 2 Fodd Sard I35 Jrert FSe,
WRAPD  Sowofods Asotesd  Déaw  oedd
JEavo Fod selsE gomo. oD apgT
566900 136 00 140 JE® Mo FHeD eorev

day.
T o €308
PODETOo o] oot
Sobain 2 Sobain wd
2005 18500 14600
2006 24200 18200
2007 16900 95400
2008 12600 18800
2009 9600 11200 "
2010 4z 16200
2011 17600 24200
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136, In which year was the production of motor |136.
bikes and scooters together the maximum 7
(1) 2006
2y 2007
& 2010
(4) 2011
137. In the year 2007, the cost of a motor bike was | 137,
T 55,000 and that of a scooter was T 40,000.
The income (in crores of rupees) in that year
was
(1) 1925
(2) 19465
(3) 1955
4y  204-55
138. The total number of scooters (in thousands) 138.
produced by the company from 2005 to 2011
was
¢, 1286
2y 126-8
(3) 1256
(4) 1284
139.
139. The ratio of motor bikes to scooters in the year
2011 is
(1) 4:11
(2) 6:11
3 8:11
(4 10:11
140. The ratio of total production of bikes and 4.

scooters together in 2006 to that in 2009 is

() 26:53
(27 b53:26
(3) 58:23
4) 23:58

(a]

0 Nosdtod® e, Ay Jndo &gy

na;,}ow a0l ?

t1) 2006
(2) 2007
(3) 2010
i4) 2011

20075 RoSGhoS arerd g% b
7 55,000 oot 200 T 40,000 wond e
HoBE o8 worabo (Y Srdrahd)

(1) 1925
(2) 194-556
(3) 1855
(4} 204-55
2005 oD 2011 S8 &&d IS Iwgo

A 8 Bogs (Jof)

(1) 128-6
(2) 126'8
34y 1256
(4} 1284

2011 RoS$tof add eons Irerd
P, M08 NG

(1) 4:11
(2) 6:11
(3 &:11
4) 10:11

2006 3 HoBSYO, 2009 HoSSEoOE e,
o ety 5020 3o ey Ayd

(1) 26:53
(2) 53:26
(3) 58:23
4y 23:58



GS/600 {33) [(a]
Directions : In each panchayat, there are six|/"o0¥ 1 (D& D0 avds’ e Jenbe Sy A,
categories of employees A, B, C, D, E and F, who are |B,C, D, E 208w F ew
employed such that A:B:C:D:E:F=12:8:7:9:2:3
‘ ﬁ_:E?:C:D:.E:E‘=1-213;t::9:2_13 r?%&g?:'?f DatoSOo. & JNevo oo
E’::;"i i‘: information, answer the questions from |, 0 . o 145 s Ko BHOD s Sy,
141, If a panchayat has a total of 72 employees, the 141, 28 Sorandé POYREE: 2o ﬁﬁs&mmcg
number of employees of C category in them is somd’ € 3en8 ﬁﬁaﬁmﬂ ROR;
(1) 6 (1) 6
3y 14 (2) 14
3) 18 (3 18
(4) 24 4 24
142. If a panchayat has 36 employees of category D, 142. &5 SoTodd’ D Swd é,ﬁcaf‘;}m 58:3ec0
then the number of employees of category E is o) womd® E 30Ad é"ﬁﬂm NOP5
(1) 8 (1) 8
@ 12 () 12
(3 16 4y 16
(4) 20 4) 20
143, The ratio of employees of category A to that in | 143 9 SOT'oNAS Jr ASeN0 a8joes, F 300
category F in any panchayat is égﬁm Jhd
(1) 1:4 (1) 1:4
2) 4:1 (2) 4:1
(3 3:4 (3) 3:4
(40 4:3 (4) 4:8
144, If a panchayat has 30 employees of category B, | 144. &8 PoTronds® B fwne &5 sloe Dogy 30
then the total number of employees in the ©o0d, @otd’d Ao éffémnﬂ Do
panchayehlp (1) 360
(1) 380
2 316 (2) 316
@ 260 (3 260
@) 26 (4) 216




GS/600

145. In any panchayat, the number of employees in
categories C and E together is equal to the
number of employees in the category

& A
@ B
@ C
4y D

Directions : Read the diagram which gives the
heads of expenditure under various categories in a
budget of ¥ 2,880 lakhs of an industry.
Miscellaneous
15%%
Medical
expenses
12%
Canteen
40% 250
Salaries Insurance

Answer the guestions 146 to 150 using the above
diagram.

146. The money allocated for Salaries (in lakhs of

rupees) is

(1) 1152
@2 1252
3y 1312

1 34)

145. D DomandS I TwAd C, 3LAD E o
505 &S00 Bow;, %08 TS O Swnd
aSybo noggd MirtidEcd,

(1 A
(2) B
3 C
4y D
MDY @ a5 SoEnd® Ingo € 2,880 aje agds’
2985 eoFrel Fravodpw dod Seod
erdTEPTIAR.
Sé50en
15%
255
P9 12%
E:'Sa-a.‘rs
40% A5G
r forey B Sebom

oot Lie

89 wgedomr 16 od 150 SUK o @8ho

&aTmey 5'.:1.1.;.

146. doren ferapods Guy (o5o Srdrand))

(4) 1432

(1) 1152
(2) 1252
(3) 1312
(4 1432



GS/600 (351}
147. The allocation made for Miscellaneous|147.
expenditure is
(1) ¥ 240-3 lakhs
{2) ¥ 2304 lakhs
(3) ¥ 234 lakhs
t4) ¥ 2324 lakhs
] 143"
148. How much more money is allocated for
Insurance and Social Security over the
Medical expenses 7
(1) ¥ 288 lakhs
(2) ¥ 2568 lakhs
(3) ¥ 238 lakhs
{4) ¥ 283 lakhs
149.
149. The total allocation for Canteen and
Misecellaneous is one-half of the allocation for
{1} Medical expenses
(2) Insurance and Social Security
3} Salaries
(4) Medical and Insurance together

150.

The allocations for
allocation for Insurance and Social Security is

Salaries minus the

equal to the allocation for

1)  Medical expenses
(2) Salaries
3) Canteen

(4) Miscelianeous

150.

28050eD Siranod

(1) ¥ 2403 of=
(2) 7 2304 o
(3) T 2340z

(4) T 2324 ofes

2 PLoyo S0, P, Jos YRS Jod
JEn 5 Seroxodadod ?

(1) ¢ 288 o0
(2) T 258 oz
(3) T 238 o¥ew
(4) T 283 o

08355, a8binen LD Swranodes, O
eromond BHo

() DS wtinm

2  daw, SoloE Hss

3) dorew

(4) P& wEne, Haren ¥OLI Sercnoy

doro Sravond Dir, oy OS
feravopi S33cemr 53,0 308 =08 O
SeronoHD Sro

1] P Pinw
(2 dore
(3) s-aceiﬂ

(4) Sl



